10. If x > 1, then which of the following has the LEAST
value?

F. Vx
G. V2x
H Vx-x
J.
K.

<

X
X*X



48. Which of the following expressions has a positive
value for all x and y such thatx >0 and y <0 ?

F. y—x
G. x+y

H. xy

). *
y
K. X

y2
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55. If x and y are real numbers such that x > 1 and y < —1,
then which of the following inequalities must be true?

A. >1
y
B. [x|°>[y]
X _ Y _
C. 3 5>3 5
D. X*+1>y"+1
E. x2>y>



S52. Which of the following is true for all consecutive inte-
gers m and n such that m < n ?

F. mis odd
G. nisodd
H. n-miseven
J. n*—m?is odd

2 2.
K. m”“+n”1is even



33. For real numbers a and b, when is the equation
la + b| = |a - b]| true?

Always

Only whena =b

Only whena=0and b=0
Only whena=0o0rb =0
Never

= 0w
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9 Ifa>0andb<0 thenthesumofaandb :

. ‘1s always posmve

,.‘..;.,ls always negative.” - -’

18 alwayszero._ I -
-'canriot be zéro, but’ can be any other real number v

can, be any real number R L

.®

..

| .r:ie;gi!w_,&



24 In the equatlon m = 1—_—?;——& q represents a posmve

, mteger As q gets Iarger and Iarger W1thout bound the

o value of m:

‘ I‘ gets closer and closer to 0.
. - Gu gets closei and closer to 17 -
- H. gets closer and closer to 3.
~ Ji remains constant.’ o

K. gets larger and Iarger
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60. When -3 Sx <4 and -1 <y<2, what is the least possi-

ble value for x - y ? DO YQUH F'GUWERE.
=3H Vau Cane Gopn7 41?4 XA
F 5 Swgllest— Vatost dned [ork
K. 5 ﬁ/}c /A/A’f 4

END OF TEST 2
STOP! DO NOT TURN THE PAGE UNTIL TOLD TO DO SO.

DO NOT RETURN TO THE PREVIOUS TEST.
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46. If a < b, then |a — b| is equivalent to which of the
following?

F. a+b
G. —(a+Db)
H. Va-b
J. a-b>b
K. —(a-b)



